
Solving Systems of Linear and Quadratic Equations Algebraically In Class Work     REI.7 

Use substitution to find where the linear and quadratic equations intersect.  

1. 𝑦 = 𝑥2 + 4𝑥 − 5 
3𝑥 − 𝑦 = −1 

 

2. 𝑦 = 2𝑥2 + 4𝑥 
              2𝑥 − 2𝑦 = 8 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

3. 𝑦 = 𝑥2 − 2𝑥 − 6 
              𝑦 = −7 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 



4. 𝑦 = −𝑥2 + 2𝑥 + 5 
−𝑥 + 𝑦 = −1 

 

5. 𝑦 = 𝑥2 − 2𝑥 + 2 
−6𝑥 + 3𝑦 = −6 
 
 

 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

6. 𝑦 = 𝑥2 + 6𝑥 − 1 
𝑦 = −𝑥2 − 6𝑥 − 1 
 
 
 

 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

 


